
书书书

习 题 答 案

第 １ 章

习题１．２

１．２ １．τ＝０．０６４ｓ

１．２ ２．犳＝５．６７ｃｐｓ

１．２ ３．τ＝０．５３３ｓ

１．２ ４．τ＝１．９９ｓ

１．２ ５．σｍａｘ＝７２３０ｐｓｉ

１．２ ６．τ犪＝０．８１３ｓ；τ犫＝１．６２ｓ

１．２ ７．犳＝５．８８ｃｐｓ

１．２ ８．τ＝２π 犿犾／（２犛槡 ）

１．２ ９．犽＝犽１犽２犽３／（犽１犽２＋犽１犽３＋犽２犽３）

习题１．３

１．３ １．犳＝０．９３５ｃｐｓ

１．３ ２．犐２＝犐１（τ
２
２－τ

２
０）／（τ

２
１－τ

２
０）

１．３ ３．τ＝２π 犠／（３犽犵槡 ）

１．３ ４．τ＝２π（犾／犪） 犠／（３犽犵槡 ）

１．３ ５．犳＝
１

２π

π犱
４犌（犾１＋犾２）

３２犐犾１犾２槡
１．３ ６．犔１＝２犪＋

犆１

犆２
犫＋２

犆１

犅
狉

１．３ ７．τ＝２π
犠狉（狉－狉０）

狀犵犛０狉０槡

习题１．４

１．４ １．ω＝
犵

犾
ｓｉｎ槡 β

１．４ ２．犳＝２．７２ｃｐｓ

１．４ ３．犠３＝２７Ｎ

１．４ ４．ω＝
犵

犾

３犽犪２／犾

３犠＋狑犾
－
３

４

４犠＋２狑犾

３犠＋狑犾
（ ）［ ］槡

１．４ ５．ω＝
犵［犽１犪

２
＋犽２（犪ｔａｎα）

２］

犠犾２槡

１．４ ６．ω＝
３犵犪２

犾犫２槡



２　　　　 铁摩辛柯工程振动学　

１．４ ７．ω＝
犮犵

犻２＋（狉－犮）２槡

习题１．５

１．５ １．τ＝
２π

３．５８

狑犾４

犈犐犵槡
１．５ ２．１３／３５

１．５ ３．τ＝
２π

２２．６

狑犾４

犈犐犵槡
１．５ ４．τ＝１．７３ｓ

１．５ ５．２３９／３３６０≈１／１４

１．５ ６．ω＝１．５８
犽犵

狑犾槡
１．５ ７．

狑１犾１犽
２
２＋３狑２犾２犽２（犽１＋犽２）＋狑２犾２犽

２
１

３（犽１＋犽２）
２

１．５ ８．
犻１犾１犽

２
ｒ２＋３犻犾１犽ｒ１（犽ｒ１＋犽ｒ２）＋犻２犾２犽

２
ｒ１

３（犽ｒ１＋犽ｒ２）
２

１．５ ９．犳＝
１

２π

狀犵犛０狉０

（犠＋犠狊狀／３）狉（狉－狉０）槡

１．５ １０．犳＝
１

２π

１６犵犅

［犠＋（１１６／１０５）狑狉］狉３槡

１．５ １１．τ＝０．６３７
狑犾４

犈犐犵槡

１．５ １２．τ＝１．８４
狑犾４

犈犐犵槡

１．５ １３．ω＝３．０７
犌犑

犻犾２槡

１．５ １４．ω＝１．５７
犈犃犵

狑犾２槡

习题１．６

１．６ １．０．００４ｉｎ．

１．６ ２．３．３ｍｍ

１．６ ３．０．００７８ｉｎ．

１．６ ４．５．１ｍｍ

１．６ ５．０．０４５４ｉｎ．

１．６ ６．０．００５６ｉｎ．

习题１．７

１．７ １．狌１＝０．１４７ｉｎ．



习题答案 ３　　　　

狌
　·

１＝－１．２２ｉｎ．／ｓ

１．７ ２．狌１＝－０．０３５ｉｎ．

狌
　·

１＝－１．８１ｉｎ．／ｓ

１．７ ３．狌＝
狇狋

２ω
ｓｉｎω狋

习题１．８

１．８ １．０．５３９／１

１．８ ２．狌
　·

ｍａｘ＝－０．２４ｍ／ｓ

１．８ ３．狋＝０．５０ｓ

－狌ｍａｘ＝０．０００４９６ｉｎ．

１．８ ４．犮＝０．００１４３ｌｂｓ／ｉｎ．

１．８ ５．犳ｄ＝ ３／槡 ２犳

习题１．９

１．９ １．犃＝０．８０３ｉｎ．

１．９ ２．犃＝２．８５ｍｍ

１．９ ３．βｍａｘ＝
１

１－Ω
４／ω槡 ４

１．９ ４．狌＝
犙

犽
βｓｉｎ（Ω狋－θ）

θ＝ａｒｃｔａｎ
２狀Ω

ω
２
－Ω

２（ ）
１．９ ５．狌＝

犅犱

犽
βｓｉｎ（Ω狋－－θ）

＝ａｒｃｔａｎ
犮Ω

－犽
（ ）

１．９ ６．狌＝
－犿犪

犽
βｃｏｓ（Ω狋－θ）

θ＝ａｒｃｔａｎ
２狀Ω

ω
２
－Ω

２（ ）
１．９ ７．狌＝

－犿犪

犽
βｓｉｎ（Ω狋－θ）

θ＝ａｒｃｔａｎ
２狀Ω

ω
２
－Ω

２（ ）
１．９ ８．狌狋狉＝－ｅ

－狀狋
－犖ｃｏｓωｄ狋＋

犕Ω－犖狀

ωｄ
ｓｉｎωｄ狋（ ）

习题１．１１

１．１１ ２．犉（狋）＝
４犘

π
ｓｉｎΩ狋＋

１

３
ｓｉｎ３Ω狋＋…（ ）



４　　　　 铁摩辛柯工程振动学　

１．１１ ３．犉（狋）＝
４犘

π
ｃｏｓΩ狋－

１

３
ｃｏｓ３Ω狋＋…（ ）

１．１１ ４．犉（狋）＝
２犘

π
ｓｉｎΩ狋－

１

２
ｓｉｎ２Ω狋＋

１

３
ｓｉｎ３Ω狋－…（ ）

１．１１ ５．犉（狋）＝
犘

２
－
犘

π
ｓｉｎΩ狋＋

１

２
ｓｉｎ２Ω狋＋

１

３
ｓｉｎ３Ω狋＋…（ ）

１．１１ ６．狌＝
犪０

犽
＋∑

∞

犻＝１

犪犻ｃｏｓ（犻Ω狋－θ犻）＋犫犻ｓｉｎ（犻Ω狋－θ犻）

犽 （１－犻２Ω
２／ω

２）２＋（２γ犻Ω／ω）槡 ２

习题１．１２

１．１２ １．狌＝
犙１

犽
（１－ｃｏｓω狋）　（０≤狋≤狋１）

狌＝
犙１

犽
［ｃｏｓω（狋－狋１）－ｃｏｓω狋］－

犙２

犽
［１－ｃｏｓω（狋－狋１）］　（狋１≤狋≤狋２）

狌＝
犙１

犽
［ｃｏｓω（狋－狋１）－ｃｏｓω狋］－

犙２

犽
［ｃｏｓω（狋－狋２）－ｃｏｓω（狋－狋１）］　（狋２≤狋）

１．１２ ２．狌＝
犙１

犽
１－ｃｏｓω狋－

狋

狋１
＋
ｓｉｎω狋

ω狋１
（ ）　（０≤狋≤狋１）

狌＝
犙１

犽
－ｃｏｓω狋＋

ｓｉｎω狋－ｓｉｎω（狋－狋１）

ω狋１［ ］　（狋１≤狋）
１．１２ ３．狌＝

犙１

犽
（１－ｃｏｓω狋）　（０≤狋≤狋１）

狌＝
犙１

犽
１－ｃｏｓω狋－

狋－狋１

狋２－狋１
＋
ｓｉｎω（狋－狋１）

ω（狋２－狋１）［ ］　（狋１≤狋≤狋２）
狌＝

犙１

犽
－ｃｏｓω狋＋

ｓｉｎω（狋－狋１）－ｓｉｎω（狋－狋２）

ω（狋２－狋１）［ ］　（狋２≤狋）
１．１２ ４．狌＝

犙１

犽

狋

狋１
－
ｓｉｎω狋

ω狋１
（ ）　（０≤狋≤狋１）

狌＝
犙１

犽

狋

狋１
－
ｓｉｎω狋

ω狋１
－
狋２（狋－狋１）

狋１（狋２－狋１）
＋
狋２ｓｉｎω（狋－狋１）

ω狋１（狋２－狋１）［ ］　（狋１≤狋≤狋２）
狌＝

犙１

犽
－
ｓｉｎω狋

ω狋１
＋
狋２ｓｉｎω（狋－狋１）

ω狋１（狋２－狋１）
－
ｓｉｎω（狋－狋２）

ω（狋２－狋１）［ ］　（狋２≤狋）
１．１２ ５．狌＝

犙１

犽
１＋

２

ω
２狋２１

（ ）（１－ｃｏｓω狋）－狋
２

狋２１［ ］　（０≤狋≤狋１）
狌＝

犙１

犽

２

ω
２狋２１
［ｃｏｓω（狋－狋１）－ｃｏｓω狋］－

２

ω狋１
ｓｉｎω（狋－狋１）－ｃｏｓω狋｛ ｝　（狋１≤狋）

１．１２ ６．狌＝
犙１

犽
１－

２

ω
２狋２１

（ ）（１－ｃｏｓω狋）－２狋
狋１
＋
狋２

狋２１
＋
２ｓｉｎω狋

ω狋１［ ］　（０≤狋≤狋１）
狌＝

犙１

犽

２

ω
２狋２１
［ｃｏｓω狋－ｃｏｓω（狋－狋１）］－ｃｏｓω狋＋

２ｓｉｎω狋

ω狋１
｛ ｝　（狋１≤狋）

１．１２ ７．狌＝
δ犙

犽
狋－

２狀

ω
２
＋ｅ

－狀狋
２狀

ω
２
ｃｏｓωｄ狋－

ω
２
ｄ－狀

２

ω
２
ωｄ

ｓｉｎωｄ狋（ ）［ ］



习题答案 ５　　　　

习题１．１３

１．１３ １．狌＝犱
狋

狋１
－
ｓｉｎω狋

ω狋１
（ ）　（０≤狋≤狋１）

狌＝犱
ｓｉｎω（狋－狋１）－ｓｉｎω狋

ω狋１
＋ｃｏｓω（狋－狋１）［ ］　（狋１≤狋）

１．１３ ２．狌＝－
犪

ω
２

狋

狋１
－
ｓｉｎω狋

ω狋１
（ ）　（０≤狋≤狋１）

狌＝－
犪

ω
２
１＋

ｓｉｎω（狋－狋１）－ｓｉｎω狋

ω狋１［ ］　（狋１≤狋）
１．１３ ３．狌＝犱１（１－ｃｏｓω狋）－（犱１＋犱２）

狋

狋１
－
ｓｉｎω狋

ω狋１
（ ）　（０≤狋≤狋１）

狌＝－犱１ｃｏｓω狋－犱２ｃｏｓω（狋－狋１）－
犱１＋犱２

ω狋１
［ｓｉｎω（狋－狋１）－ｓｉｎω狋］　（狋１≤狋）

１．１３ ４．狌＝－
犪１

ω
２
（１－ｃｏｓω狋）－

犪２－犪１

ω
２

狋

狋１
－
ｓｉｎω狋

ω狋１
（ ）　（０≤狋≤狋１）

狌＝－
犪１

ω
２
［ｃｏｓω（狋－狋１）－ｃｏｓω狋］

－
犪２－犪１

ω
２

ｓｉｎω（狋－狋１）－ｓｉｎω狋

ω狋１
＋ｃｏｓω（狋－狋１）［ ］　（狋１≤狋）

１．１３ ５．狌＝犱
２

ω
２狋２１
（１－ｃｏｓω狋－ω狋１ｓｉｎω狋）＋

２狋

狋１
－
狋２

狋２１
［ ］　（０≤狋≤狋１）

狌＝犱
２

ω
２狋２１
［ｃｏｓω（狋－狋１）－ｃｏｓω狋－ω狋１ｓｉｎω狋＋ｃｏｓω（狋－狋１）｛ ｝　（狋１≤狋）

１．１３ ６．狌＝－
犪

ω
２

狋２

狋２１
－
２

ω
２狋２１
（１－ｃｏｓω狋）［ ］　（０≤狋≤狋１）

狌＝ －
犪

ω
２

２

ω
２狋２１
［ｃｏｓω狋－ｃｏｓω（狋－狋１）＋ω狋１ｓｉｎω（狋－狋１）］＋ｃｏｓω（狋－狋１）｛ ｝　（狋１≤狋）

１．１３ ７．犃＝
２槡犪

ω
２

１－ｃｏｓ
ω狌
　·

０

犪（ ）槡

习题１．１５

１．１５ １．狌１０＝０

１．１５ ２．狌１０＝
犙１

犽

１．１５ ３．表１．１已给出

１．１５ ４．表１．２已给出

１．１５ ５．狌２０＝－２．５４６
犙１

犽

１．１５ ６．狌２０＝－４
犙１

犽

１．１５ ７．狌１０＝０．９１３５
犙１

犽
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１．１５ ８．狌１０＝０．３１８６
犙１

犽

１．１５ ９．狌１０＝１．３７９
犙１

犽

１．１５ １０．狌１０＝１．１０２
犙１

犽

第 ２ 章

习题２．１

２．１ １．（ａ）犿狌　
··

＋２犽狌（２－犾／ 犾２＋狌槡 ２）＝０

（ｂ）犿狌　
··

＋２犽狌（１＋狌２／２犾２）＝０

（ｃ）犿狌　
··

＋２犽狌＝０

２．１ ２．（ａ）犿狌　
··

＋２犽２狌－犾
１

１＋１／（１＋槡２狌／犾）槡
２
－

１

１＋１／（１－槡２狌／犾）槡
２

熿

燀

燄

燅
烅
烄

烆
烍
烌

烎
＝０

（ｂ）犿狌　
··

＋２犽狌＝０

２．１ ３．（ａ）
　··

＋
犵

犾１
ｓｉｎ＋

犉

犠
ｃｏｓ（－θ）［ ］＝０

其中

犉＝犽
犾２＋犾１ｓｉｎ

ｃｏｓθ
－犾２（ ）；θ＝ａｒｃｔａｎ犾１

（１－ｃｏｓ）

犾２＋犾１ｓｉｎ
［ ］

（ｂ）
　··

＋
犵

犾１
＋
犽犵

犠
（ ）＝０

２．１ ４．（ａ）
　··

＋
犵

犾１
ｓｉｎ＋

犽犵

犠犾１
（犾１＋犾２）× １－

犾２

犾２２＋２犾１（犾１＋犾２）（１－ｃｏｓ槡 ）

熿

燀

燄

燅
ｓｉｎ＝０

（ｂ）
　··

＋
犵

犾１
＋

犵

２

犽

犠

犾１

犾２
＋１（ ）

２

－
１

３犾１［ ］３＝０
（ｃ）

　··

＋
犵

犾１
＝０

２．１ ５．犿狌　
··

＋犽狌－犾ｃｏｓθ＋
犾（犾ｃｏｓθ－狌）

犾２＋狌
２
－２犾狌ｃｏｓ槡 θ

熿

燀

燄

燅
＝０

２．１ ６．
　··

＋
犽狉犵

犠犾２
－

犵

犾
ｓｉｎ＝０

习题２．２

２．２ １．狌犿＝２．１３ｉｎ．；犘犿＝８５６３ｌｂ；狋犿＝τ／４＝０．３０８ｓ

２．２ ２．狌犿＝４．７５ｉｎ．；犘犿＝２３５０ｌｂ

２．２ ３．狌犿＝３．１６ｉｎ．；犘犿＝３１７０ｌｂ

２．２ ４．狌犿＝３．１８ｉｎ．；犘犿＝３１３０ｌｂ

习题２．５

２．５ １．狋狀＝狋１＋
１

ω
ａｒｃｔａｎ［（犙狀／犽）（狌

　·

１／ω）］



习题答案 ７　　　　

犃＝ 狌１＋
犙狀

犽（ ）
２

＋
犙狀

犽（ ）
２

＋
狌
　·

１

ω（ ）槡
２

２．５ ２．狋ｍ＝
π

２

犿

犽１槡 ＋
犿

犽２槡
烄

烆

烌

烎
；狌ｍ＝狌１ １＋

犽１

犽２槡
烄

烆

烌

烎

２．５ ３．狋狀＝
π

２

犿

犽１槡
；犃＝狌１ １＋

犽１

犽２
１－ １＋

犽１

犽２槡
烄

烆

烌

烎

熿

燀

燄

燅

２．５ ４．狋ｍ＝３．８３ 犿／槡 犽；狌ｍ＝３狌１／２

２．５ ５．狌ｍ＝３狌１／２；狌ｒ＝狌１／２

２．５ ６．２．２６ｓ

２．５ ７．０．２５

２．５ ８．τ＝π（犿／犽槡 １＋ 犿／犽槡 ２）；狌ｍ＝狌
　·

０ 犿／犽槡 ２

２．５ ９．τ＝
２

ω
ａｒｃｔａｎ

犽狌
　·

０

犘１ω（ ）；狌ｍ＝ 狌
　·

０

ω（ ）
２

＋
犘１

犽（ ）槡
２

－
犘１

犽

２．５ １０．τ＝４狋１＋
４

ω
ａｒｃｔａｎ

犽２狌
　·

１

犽１ω２狌１（ ）
狌ｍ＝ １－

犽１

犽２（ ）狌１＋ 犽１

犽２
狌１（ ）

２

＋
狌
　·

１

ω２（ ）槡
２

２．５ １１．狌ｍ＝狌１（１＋槡５）；狌ｒ＝４狌１／槡５

２．５ １２．狌ｍ＝狌１（６＋ 槡２ １０）；狌ｒ＝４狌１ １＋２
２

５槡
烄

烆

烌

烎

习题２．６

２．６ １．表２．１已给出

２．６ ２．表２．１已给出

２．６ ３．１０≈π／２ｒａｄ

２．６ ４．狌
　·

ｍｉｎ≈－１．５９ｉｎ．／ｓ

２．６ ５．ｍａｘ≈π／２ｒａｄ

２．６ ６．狌ｍ≈４．７５ｉｎ．；狋ｍ≈０．７２５ｓ

２．６ ７．狌ｍ≈３．１８ｉｎ．；狋ｍ≈０．５０ｓ

２．６ ８．狌ｍ≈１．５０ｉｎ．；狋ｍ≈０．７５ｓ

２．６ ９．狌ｍ≈１．５１ｉｎ．；狋ｍ≈１．２０ｓ

２．６ １０．狌ｍ≈３．２４ｉｎ．；狋ｍ≈１．６０ｓ

第 ３ 章

习题３．５

３．５ １．狉１＝１；狉２＝－１

３．５ ２．狉１＝－槡３／３；狉２＝槡３

３．５ ３．狉１＝１／（１＋槡２）；狉２＝１／（１－槡２）

３．５ ４．狉１＝１／槡２；狉２＝－ 槡１２

３．５ ５．狉１＝０．３２１；狉２＝－３．１２
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３．５ ６．狉１＝２．４１；狉２＝－０．４１４

３．５ ７．狉１＝１；狉２＝－１

３．５ ８．狉１＝１／（１＋槡２）；狉２＝１／（１－槡２）

３．５ １１．狉１＝－１３．４ｆｔ／ｒａｄ；狉２＝－２．４１ｆｔ／ｒａｄ

３．５ １２．狉１＝０．５７８犾；狉２＝－０．５７８犾

第 ４ 章

习题４．２

４．２ １．ω
２
１，２，３＝（２－槡２）犜／（犿犾），２犜／（犿犾），（２＋槡２）犜／（犿犾）

４．２ ２．λ１，２，３＝（２＋槡２）犿／（２犽），犿／（２犽），（２－槡２）犿／（２犽）

４．２ ３．ω
２
１，２，３＝

犵

犾
，
犵

犾
＋
犽犺２

犿犾２
，
犵

犾
＋
３犽犺２

犿犾２

４．２ ４．λ１，２，３＝５．０５犐／犽狉，０．６４３犐／犽狉，０．３０８犐／犽狉

４．２ ５．ω
２
１，２，３，４＝０，（２－槡２）犽／犿，２犽／犿，（２＋槡２）犽／犿

４．２ ６．λ１，２，３＝３１．６α，２α，０．４４４α［α＝犿犾
３／（７６８犈犐）］

４．２ ７．ω
２
１，２，３＝０．４１６犵／犾，２．２９犵／犾，６．２９犵／犾

４．２ ８．λ１，２，３＝１４．４α，２．６２α，０．９５４α［α＝犿犾
３／（１４４犈犐）］

４．２ ９．ω
２
１，２，３＝０．３３２犽／犿，１．２８犽／犿，１．３９犽／犿

４．２ １０．λ１，２，３＝７４．４α，６．９９α，０．３０７α［α＝犿犾
３／（４８犈犐）］

４．２ １１．ω
２
１，２，３＝０，０，９犈犐／犿犾

３

４．２．１２．ω
２
１，２，３＝（３－槡３）犽／犿，３犽／犿，（３＋槡３）犽／犿

习题４．４

４．４ １．狌１＝犘（１．２２０ｃｏｓω１狋－０．２８０ｃｏｓω２狋＋０．０６０ｃｏｓω３狋）／犽

４．４ ２．狌１＝狌
　·

０１（ｓｉｎω２狋）ω２

４．４ ３．θ１＝（ｃｏｓω１狋－ｃｏｓω３狋）／３

４．４ ４．１＝θ
　·

［０．５４３（ｓｉｎω１狋）／ω１＋０．３４９（ｓｉｎω２狋）／ω２＋０．１０８（ｓｉｎω３狋）／ω３］

４．４ ５．狌１＝狌
　·

０１［（狋＋ｓｉｎω３狋）／ω３］／２

４．４ ６．狏１＝θ
　·

犾［１．７０７（ｓｉｎω１狋）／ω１－（ｓｉｎω２狋）／ω２＋０．２９３（ｓｉｎω３狋）／ω３］／４

４．４ ７．狌１＝Δ（０．３３４ｃｏｓω１狋＋０．３１４ｃｏｓω２狋＋０．３５２ｃｏｓω３狋）

４．４ ８．狌１＝犘犺
３（２．６１６ｃｏｓｃｏｓω１狋－０．７０２ｃｏｓω２狋＋０．０８３ｃｏｓω３狋）／（１４４犈犐）

４．４ ９．狌１＝狌
　·

０１［０．７０８（ｓｉｎω１狋）／ω１＋０．２９２（ｓｉｎω３狋）／ω３］

４．４ １０．狌１＝犘犾
３（２６．３３ｃｏｓω１狋－２．３１５ｃｏｓω２狋－０．００７ｃｏｓω３狋）／（４８犈犐）

４．４ １１．狏１＝狏
　·

０１［４狋－（ｓｉｎω３狋）／ω３］／３

４．４ １２．狏１＝Δ（１．３６７ｃｏｓω１狋－０．３６７ｃｏｓω３狋）

习题４．５

４．５ １．狌１＝（犘ｃｏｓΩ狋）（０．２４２β１／ω
２
１－０．４３６β２／ω

２
２＋０．１９４β３／ω

２
３）／犿

４．５ ２．狌１＝犘［６－（２＋槡２）ｃｏｓω１狋－２ｃｏｓω２狋－（２－槡２）ｃｏｓω３狋］／（８犽）



习题答案 ９　　　　

４．５ ３．θ１＝
犚

３犿犾
狋－

１

ω１
ｓｉｎω１狋（ ）ω２１－ 狋－ １

ω３
ｓｉｎω３狋（ ）／ω２３［ ］

４．５ ４．１＝（犜ｓｉｎΩ狋）（０．２１８β１／ω
２
１－０．０９７β２／ω

２
２－０．１２１β３／ω

２
３）／犐

４．５ ５．狌１＝犘［狋
２
＋（１－ｃｏｓω３狋）犿／犽］／（４犿）

４．５ ６．狏１＝
犚

２犿
狋－

１

ω１
ｓｉｎω１狋（ ）ω２１＋ 狋－ １

ω３
ｓｉｎω３狋（ ）／ω２３［ ］

４．５ ７．狌１＝（犘ｃｏｓΩ狋）（０．０７７β１／ω
２
１＋０．２９０β２／ω

２
２＋０．１３２β３／ω

２
３）／犿

４．５ ８．狌１＝犘犺
３（５．９９５－４．８０５ｃｏｓω１狋－０．８７１ｃｏｓω２狋－０．３１９ｃｏｓω３狋）／（１４４犈犐）

４．５ ９．狑１＝
犚

ω
２
２犿

狋－
１

ω２
ｓｉｎω２狋（ ）［ ］

４．５ １０．狌１＝（犘ｓｉｎΩ狋）（０．０９４β１／ω
２
１－０．１４５β２／ω

２
２＋０．０５２β３／ω

２
３）／犿

４．５ １１．狏１＝
犚

９犿
狋３＋３狋－

１

ω３
ｓｉｎω３狋（ ）／ω２３［ ］

４．５ １２．狏１＝犘（０．０３７９－０．０６４７ｃｏｓω１狋＋０．０２５１ｃｏｓω３狋）／犽

习题４．６

４．６ １．狌１＝犽犱１［０．１０８犳１（狋）＋０．５４３犳２（狋）＋０．３４９犳３（狋）］／狋１犿；犳１（狋）＝狋－
１

ω１
ｓｉｎω１狋（ ）／ω２１，等

４．６ ２．狌１＝犱［４－（２＋槡２）ｃｏｓω１狋－（２－槡２）ｃｏｓω３狋］／４

４．６ ３．θ１＝－（犪／犵）β１ｓｉｎΩ狋

４．６ ４．

１ ＝－α１犐［３狋

２
－犐（２８．０１－２７．７０ｃｏｓω１狋－０．２８９ｃｏｓω２狋－０．０２０ｃｏｓω３狋）／犽狉］／（狋

２
１犽狉）

４．６ ５．狌１＝犽犱１［０．２４２犳１（狋）－０．４３６犳２（狋）＋０．１９４犳３（狋）］／（狋１犿）；

犳１（狋）＝狋－
１

ω１
ｓｉｎω１狋（ ）ω２１，等

４．６ ６．狏１＝犱（３－１．７０７ｃｏｓω１狋－ｃｏｓω２狋－０．２９３ｃｏｓω３狋）／４

４．６ ７．狌１＝犱（１－０．３３４ｃｏｓω１狋－０．３１４ｃｏｓω２狋－０．３５２ｃｏｓω３狋）

４．６ ８．狌１
＝－犪ｓｉｎΩ狋（０．３３３β１／ω

２
１＋０．３３３β２／ω

２
２＋０．３３４β３／ω

２
３）

４．６ ９．狌１＝犱（１－０．７０８ｃｏｓω１狋－０．２９２ｃｏｓω３狋）

４．６ １０．狌１＝犾ｃｏｓΩ狋（１．２４２β１－０．２４９β２＋０．００８β３）

４．６ １１．狏１ ＝狏

３ ＝－犪１［狋

２
－２（１－ｃｏｓω狋）／ω

２］ω
２狋２１，其中ω

２
＝３犈犐／犾３犿

４．６ １２．狏１＝犱ｓｉｎΩ狋（０．０９６β１－０．０９６β３）

习题４．７

４．７ １．λ１，２，３≈２．６１８犿犾／犜，０．５００犿犾／犜，０．３８２犿犾／犜

４．７ ２．λ１，２，３≈２．６１８犿δ，１．０００犿δ，０．３８２犿δ

４．７ ３．λ１，２，３≈３９．６８α，２．８１５α，０．５０１α［α＝犿犾
３／（７６８犈犐）］

４．７ ４．λ１，２，３≈０．２４６犵／犾，１．２５２犵／犾，２．１６９犵／犾

４．７ ５．λ１，２，３≈１９．１２α，４．０００α，１．８８４α［α＝犿犺
３／（１４４犈犐）］

４．７ ６．λ１，２，３≈７６．３２α，８．９７８α，０．７００α［α＝犿犾
３／（４８犈犐）］

４．７ ７．ω
２
１，２，３＝０，０，６犈犐／犿犾

３
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第 ５ 章

习题５．２

５．２ １．狌＝ ∑
∞

犻＝１，３，５，…

ｃｏｓ
犻π狓

２犾
犃犻ｃｏｓ

犻π犪狋

２犾
＋犅犻ｓｉｎ

犻π犪狋

２犾
（ ）

５．２ ２．狌＝
４狏犾

π
２犪 ∑

∞

犻＝１，３，５，…

１

犻２
ｃｏｓ
犻π狓

犾
ｓｉｎ
犻π犪狋

犾

５．２ ３．狌＝
犘０犾

π
２犈犃 ∑

∞

犻＝２，６，１０，…

（－１）
（犻－２）／４

犻２
ｓｉｎ
犻π狓

犾
ｃｏｓ
犻π犪狋

犾

５．２ ４．狌＝
１６犘０犾

π
２犈犃 ∑

∞

犻＝１，３，５，…

１

犻３
ｓｉｎ
犻π狓

２犾
ｃｏｓ
犻π犪狋

２犾

习题５．３

５．３ １．狌＝
２犾犘

π
２犪２ρ犃

∑
∞

犻＝１，３，５，…

（－１）
（犻－１）／２

犻２
ｓｉｎ
犻π狓

犾
１－ｃｏｓ

犻π犪狋

２犾
（ ）

５．３ ２．狌＝
犘１狋

３

６ρ犃犾狋１
＋

２犾犘１

π
２犪２ρ犃狋１

∑
∞

犻＝１

１

犻２
ｃｏｓ
犻π狓

犾
狋－

犾

犻π犪
ｓｉｎ
犻π犪狋

犾
（ ）

５．３ ３．狌＝
４犘１ｓｉｎΩ狋

πρ犃犾
∑
∞

犻＝１，３，５，…

ｓｉｎ（ω犻狓／犪）

犻（ω
２
犻－Ω

２）
；ω犻＝

犻π犪

２犾

５．３ ４．狌＝
８犾犘

π
２犪２ρ犃

∑
∞

犻＝１，３，５，…

ｃｏｓ（犻π／４）

犻２
ｃｏｓ
犻π狓

２犾
１－ｃｏｓ

犻π犪狋

２犾
（ ）

习题５．４

５．４ １．狌＝
２犘０

３π犈犃∑
∞

犻＝１

１

犻
ｓｉｎ
犻π狓

犾

犾

犻π
３ｓｉｎ

犻π

３
－ｓｉｎ

２犻π

３
（ ）－犾

３
ｃｏｓ
２犻π

３
［ ］ｃｏｓ犻π犪狋

犾

５．４ ２．狌＝
８狏犾

π
２犪 ∑

∞

犻＝１，３，５，…

１

犻２
ｃｏｓ
犻π

４
ｓｉｎ
犻π狓

２犾
ｓｉｎ
犻π犪狋

２犾

５．４ ３．狌＝
２犾２犙

π
３犪２犿∑

∞

犻＝１

（－１）犻－１

犻３
ｓｉｎ
犻π狓

犾
１－ｃｏｓ

犻π犪狋

犾
（ ）

５．４ ４．狌＝
犘１狋

４

１２犾犿狋２１
＋
２犾犘１

π
２犪２犿狋２１

∑
∞

犻＝２，４，６，…

（－１）犻
／２

犻２
ｃｏｓ
犻π狓

犾
× 狋

２
－

２犾２

（犻π犪）
２
１－ｃｏｓ

犻π犪狋

犾
（ ）［ ］

习题５．６

５．６ １．狌＝ １＋
１６犾２Ω

２

π
３犪２ ∑

∞

犻＝１，３，５，…

β犻

犻３
（－１）

（犻－１）／２ｃｏｓ
犻π狓

２犾［ ］犱ｓｉｎΩ狋
５．６ ２．狌＝

狌１

狋２１
狋２－

８犾２

π
３犪２ ∑

∞

犻＝１，３，５，…

１

犻３
ｓｉｎ
犻π狓

犾
１－ｃｏｓ

犻π犪狋

犾
（ ）［ ］

５．６ ３．狌＝
狌１

狋２１

（犾－狓）

犾
狋２－

４犾２

π
３犪２∑

∞

犻＝１

１

犻３
ｓｉｎ
犻π狓

犾
１－ｃｏｓ

犻π犪狋

犾
（ ）［ ］

５．６ ４．狌＝
狌１

狋３２

狓

犾
狋３＋

１２犾２

π
３犪２∑

∞

犻＝１

（－１）犻

犻３
ｓｉｎ
犻π狓

犾
狋－

犾

犻π犪
ｓｉｎ
犻π犪狋

犾
（ ）［ ］



习题答案 １１　　　

习题５．１０

５．１０ １．狏＝
２犘犾３

π
４犈犐∑犻

（－１）
（犻－１）／２

犻４
ｓｉｎ
犻π狓

犾
ｃｏｓω犻狋　（犻＝１，３，５，…）

５．１０ ２．狏＝
２犘犾３

π
４犈犐∑犻

１

犻４
ｓｉｎ
犻π狓

犾
ｓｉｎ
犻π狓１

犾
ｃｏｓω犻狋　（犻＝１，２，３，…）

５．１０ ３．狏＝
４狑犾４

π
５犈犐∑犻

１

犻５
ｓｉｎ
犻π狓

犾
ｃｏｓω犻狋　（犻＝１，３，５，…）

５．１０ ４．狏＝
４狏
　·

０

π ∑犻
１

犻ω犻
ｓｉｎ
犻π狓

犾
ｓｉｎω犻狋　（犻＝１，３，５，…）

习题５．１１

５．１１ １．犡犻＝ｃｏｓｈ犽犻狓－ｃｏｓ犽犻狓－α犻（ｓｉｎｈ犽犻狓－ｓｉｎ犽犻狓）；

α犻＝
ｃｏｓｈ犽犻犾－ｃｏｓ犽犻犾

ｓｉｎｈ犽犻犾－ｓｉｎ犽犻犾

犽１犾＝３．９２７　犽２犾＝７．０６９　α１＝１．０００８　α２＝１．００００

５．１１ ２．犡犻＝ｃｏｓｈ犽犻狓－ｃｏｓ犽犻狓－α犻（ｓｉｎｈ犽犻狓－ｓｉｎ犽犻狓）；

α犻＝
ｃｏｓｈ犽犻犾＋ｃｏｓ犽犻犾

ｓｉｎｈ犽犻犾＋ｓｉｎ犽犻犾

犽犻犾＝１．８７５　犽犻犾＝４．６９４　α１＝０．７３４１　α２＝１．０１８５

５．１１ ３．狏＝
犘０犾

３

犈犐
（１７２４犡１ｃｏｓω１狋＋３８０犡２ｃｏｓω２狋＋９４犡３ｃｏｓω３狋＋… ）×１０

－６

５．１１ ４．狏＝
犘０犾

３

犈犐
（１６１８２犡１ｃｏｓω１狋－４１２犡２ｃｏｓω２狋＋５３犡３ｃｏｓω３狋－… ）×１０

－５

习题５．１３

５．１３ １．（狏犿）狓＝犾／２＝
２犘犾３

π
４犈犐

烄

烆

１

１－
１

４

＋
１

３４－
１

４

＋
１

５４－
１

４

＋…
烌

烎

≈１．３２８ｍｍ

５．１３ ２．（狏犿）狓＝犾／２＝
４犘犾３

π
４犈犐

熿

燀

ｓｉｎ（π／３）

１－
１

４

＋
ｓｉｎ（５π／３）

５４－
１

４

＋
ｓｉｎ（７π／３）

７４－
１

４

＋…
燄

燅

≈２．２７３ｍｍ

５．１３ ３．（狏犿）狓＝犾／２＝
２狑犾４

π
５犈犐 ∑

∞

犻＝１，３，５，…

（－１）
（犻－１）／２

犻（犻４－α
２）

５．１３ ４．狏＝
２犘犾３

π
２犈犐 ∑

∞

犻＝１，３，５，…

（－１）
（犻－１）／２

犻４
ｓｉｎ
犻π狓

犾
（１－ｃｏｓω犻狋）

５．１３ ５．狏＝
狑犾４β１ｓｉｎΩ狋

π
４犈犐

ｓｉｎ
π狓

犾
；β１＝

１

１－Ω
２／ω

２
１

５．１３ ６．狏＝
２π

犿犾２∑
∞

犻＝１

１

犘犻
ｓｉｎ
犻π狓

犾∫
犾

０
ｃｏｓ
犻π狓

犾∫
狋

０
犕（狓，狋′）ｓｉｎω犻（狋－狋′）ｄ狋′ｄ狓



１２　　　 铁摩辛柯工程振动学　

习题５．１４

５．１４ １．狏＝
犘犾３ｓｉｎΩ狋

犈犐 ∑
∞

犻＝１

β犻犡犻（犡犻）狓＝犾

（犽犻犾）
４

；β１＝
１

１－Ω
２／ω

２
１

５．１４ ２．（狏）狓＝犾＝
４犘犾３

犈犐
（０．０８０９１β１＋０．００２０６β２＋０．０００２６β３＋… ）ｓｉｎΩ狋

５．１４ ３．狏＝
犘犾３ｓｉｎΩ狋

犈犐 ∑
∞

犻＝１

β犻犡犻（犡犻）狓＝犾／２

（犽犻犾）
４

５．１４ ４．（狏）狓＝犾／２＝
犘犾３ｓｉｎΩ狋

犈犐
（８８２９β１＋１３０β２＋１５６β３＋９β４＋２３β５＋… ）

习题５．１５

５．１５ １．狏＝ １－
狓

犾
＋
２犾４Ω

２

π
５犪２ ∑

∞

犻＝１

β犻

犻５
ｓｉｎ
犻π狓

犾［ ］狏１ｓｉｎΩ狋
５．１５ ２．狏＝

θ２

狋２２
狓狋２－∑

∞

犻＝１

２犡犻

ω
２
犻∫

犾

０
狓犡犻ｄ狓（１－ｃｏｓω犻狋）［ ］

５．１５ ３．狌＝ －
狓２

犾
＋
狓３

犾２
＋∑

∞

犻＝１

Ω
２犡犻

（ω
２
犻－Ω

２）∫
犾

０
－
狓２

犾
＋
狓３

犾２
（ ）犡犻ｄ狓［ ］θ４ｓｉｎΩ狋

５．１５ ４．狌＝
狏３

狋３３

３狓２

２犾２
－
狓３

２犾３
（ ）狋３－∑

∞

犻＝１

６犡犻

ω
２
犻∫

犾

０

３狓２

２犾２
－
狓３

２犾３
（ ）犡犻ｄ狓狋－ １

ω犻
ｓｉｎω犻狋（ ）［ ］

第 ６ 章

习题６．４

６．４ １．狆犫（狋）＝｛２犫１＋犫２，犫１＋２犫２｝
犔

６

６．４ ２．狆犫（狋）＝｛１，３｝
犫２犔

１２

６．４ ３．犓＝
犈犃

３犔

７ －８ １

－８ １６ －８

１ －８ ７

熿

燀

燄

燅

６．４ ４．犕＝
ρ犃犔

１５

２　１　 －
１

２

１　８　 １　

－
１

２
１　 ２　

熿

燀

燄

燅

６．４ ５．狆犫（狋）＝｛１，４，１｝
犫狓犔

６

６．４ ６．狆犫（狋）＝｛５，３｝
犿狓１犔

１２

６．４ ７．狆犫（狋）＝｛犔－狓，狓｝
犕狓

犔

６．４ ８．狆犫（狋）＝｛９，２犔，２１，－３犔｝
犫２犔

６０



习题答案 １３　　　

６．４ ９．狆犫（狋）１＝｛２狓
３
－３狓

２犔＋犔
３，狓３犔－２狓２犔２＋犔３，－２狓３＋３狓２犔，狓３犔－狓２犔２｝

犘狔

犔３

狆犫（狋）２＝｛６狓
２
－６狓犔，３狓２犔－４狓犔２＋犔３，－６狓２＋６狓犔，３狓２犔－２狓犔２｝

犕狕

犔３

６．４ １０．狆犫（狋）＝｛２１犫１＋９犫２，（３犫１＋２犫２）犔，９犫１＋２１犫２，－（２犫１＋３犫２）犔｝
犔

６０

６．４ １１．式（６．７５）已给出

６．４ １２．式（６．８１）已给出

习题６．５

６．５ １．犛狊１１＝
４犈犐

犔
；犛狊１２＝

２犈犐

犔
；犛狊１３＝０；等等

犕狊１１＝
ρ犃犔

３

１０５
；犕狊１２≡

ρ犃犔
３

１４０
；犕狊１３＝０；等等

６．５ ２．犛狊１１＝
８犈犐

犔
；犛狊１２＝

６犈犐

犔２
；犛狊１３＝

２犈犐

犔
；等等

犕狊１１＝
２ρ犃犔

３

１０５
；犕狊１２≡

１３ρ犃犔
２

４２０
；犕狊１３＝－

ρ犃犔
３

１４０
；等等

６．５ ３．犛狊１１＝
１２犈犐

犔３
；犛狊１２＝

６犈犐

犔２
；犛狊１３＝

６犈犐

犔２
；等等

犕狊１１＝
１３ρ犃犔

３５
；犕狊１２＝

１１ρ犃犔
２

２１０
；犕狊１３＝－

１３ρ犃犔
３

４２０
；等等

６．５ ４．犛狊１１＝
８犈犐

犔３
；犛狊１２≡

６犈犐

犔２
；犛狊１３＝

２犈犐

犔
；等等

犕狊１１＝
２ρ犃犔

３

１０５
；犕狊１２＝

１３ρ犃犔
２

４２０
；犕狊１３＝－

ρ犃犔
３

１４０
；等等

６．５ ５．ω１，２＝
５．５４６，２１．０４

犔２
犈犐

ρ犃槡
；Φ１＝

　犔

－０．３９４７
［ ］；Φ２＝ 　犔

－２６．６１
［ ］

６．５ ６．ω１，２＝
１５．１４，２８．９８

犔２
犈犐

ρ犃槡
；Φ１＝

　１

－１
［ ］；Φ２＝ １

１
［］

６．５ ７．ω１，２＝
１３．３２，３４．７９

犔２
犈犐

ρ犃槡
；Φ１＝

１

－０．７０７１
［ ］；Φ２＝ １

０．７０７１
［ ］

６．５ ８．ω１＝
１５．６９

犔２
犈犐

ρ犃槡

６．５ ９．ω１，２＝５．６０３，３１．１９
１

犔２
犈犐

ρ犃槡
；Φ＝

１．０００ １．０００

０．５４３５ －０．９３６４
［ ］

６．５ １０．ω１＝
９．９４１

犔２
犈犐

ρ犃槡

６．５ １１．ω１，２，３＝０，０，２２．４７
１

犔２
犈犐

ρ犃槡
；Φ＝

１ 　１ 　１

１ 　０ －０．６

１ －１ 　１

熿

燀

燄

燅




